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1 TS [ri] 2S +2 -170 [ri] 3S +2 -200 1
2 it [£3] INT +1 120 [£3] 2NT = 120
3 panyiie] [£3] 3NT -3 -150 1t 5C = 400 11
4 PE=] [£3] 2D +1 110 [£3] 2D = 90 1
5 it x 4H -2 100 x 3NT +1 -430 11
6 ,?ﬁ 1t 2H -1 -50 x INT = -90 1
7 PWE=] [£3] 2C = 90 [£3] 2NT = 120 1
8 TS 1t 2S -1 -50 [£3] 3NTX -4 -800 13
9 panyiic] [ri] 3NT +1 -630 [ri] 3NT +1 -630
10 | \WHB [ri] 4H = -620 [ri] 4H = -620
11 | W 1t 4HX -2 -300 1t 4H -1 -50 6
12 | Edb [£3] 3NT = 600 1t 2S +1 140 10

DATUMiT T
SRMNER ARLES V. ] 37 18

BER/BELE 11 fR=/EE -37 Aait 37 | 18
TheTER/(BIE8 37 B2 2 /MR 11 V.P. 15.37 | 4.63




SBhlEfs

RE (H—if)

¥ 84 %2 5 201542H8H
4 Y VS 2 IINETHR
H= A=
e AT T e
e % . o RO = I
RS 7 B&W @ © XU 74 : BUAR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 2S +2 -170 [£3] 2NT -1 -50 3
2 it [£3] INT +1 120 [£3] INT = 90 1
3 panyiie] [£3] 3NT -3 -150 [£3] 5C = 400 11
4 | WE LL PAS 7 | ANT | -2 | 200 5
5 it x 3NT = -400 [ri] 5D -2 100 11
6 ,?ﬁ 1t 2H -1 -50 1t 2H -1 -50
7 E=] 1t 4H -3 -300 [£3] 2H = 110 9
8 TS 1t 3C -2 -100 1t 3Sx -1 -100
9 panyiic] x 3NT +1 -630 [ri] 3NT +1 -630
10 | \WHB x 4H = -620 x 4C -1 100 12
11 | W 1t 3H = 140 1t 2HXx +2 670 11
12 | Edb 1t 3S +1 170 [£3] 3NT +1 630 10
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1 TS [ri] 4S = -420 [ri] 2S +2 -170 6
2 it [£3] INT +1 120 [£3] INT +1 120
3 panyiie] 1t 3NT +1 430 x 2Sx -2 500 2
4 E=] 1t 2S +1 140 1t 2S -1 -100 6
5 it x 4H -2 100 [£3] 3Cx = 670 11
6 ,?ﬁ 1t 2H -1 -50 1t 3H -2 -100 2
7 E=] 1t 3H -3 -300 [£3] 3C = 110
8 TS 1t 4Cx -2 -300 [£3] 2NT -3 -150 4
9 gy x 3NT +1 -630 x 3NT +1 -630
10 | \WHB [ri] AINT +3 -180 x 5Cx -3 800 14
11 | W 1t 4H -1 -50 1t 4H -1 -50
12 | Edb 1t 2S +1 140 [£3] 3NT = 600 10
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1 TS [ri] 4S -1 50 [ri] 4Sx = -590 12
2 it [£3] 2NT +1 150 [£3] INT +1 120 1
3 panyiic] x 3Sx -3 800 x 3Sx -3 800
4 E=] 1t 2S = 110 [£3] 3D = 110
5 it x 4H -3 150 x 3NT +1 -430 11
6 ,?ﬁ x INT -2 200 x INT = -90 4
7 E=] [£3] 3C = 110 [£3] 2H -1 -100 5
8 TS 1t 3Sx -1 -100 [£3] 3HXx -1 -100
9 panyiie] [ri] 3NT +2 -660 x 3NT +2 -660
10 | WHB x 2H = -110 x 4H -1 100 5
11 | W 1t 4H = 420 1t 3H = 140 4
12 | Edb 1t 2S +1 140 1t 2S +2 170 1
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1 TS [ri] 4S -1 50 x 4S = -420 10
2 it [£3] INT = 90 [£3] INT +1 120 1
3 panyiie] 1t 5C = 400 [£3] 5C = 400
4 E=] [£3] 3D = 110 1t 2S -2 -200 7
5 it x 3NT +1 -430 [ri] 3NT = -400 1
6 ,?ﬁ 1t 2H -1 -50 1t 2H -1 -50
7 WE=] [£3] 3C -1 -100 1t 3H -2 -200 3
8 TS [£3] 2H -1 -50 x 3Sx -4 800 13
9 panyiie] x 3NT +2 -660 x 3NT +2 -660
10 | \WHB [ri] 4H = -620 x 4H -1 100 12
11 | W 1t 4H = 420 1t 3H -1 -50 10
12 | Edb 1t 2S +2 170 1t 4S = 620 10
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